Economics 611 Quiz 4
________________________________________________________________________

yi =αo+α1xi1+α2xi2+α3xi3+εi
1. The coefficient alpha 1 captures the effect of x1 on y
Your answer:


a. netting out the effects of x2 and x3 on y.


b. controlling for the effects of x2 and x3 on y.


c. for any value of x2 and x3.


d. all of the above.

yi =αo+α1xil+α2Di+εi
2. In this model, D is 1 if the observation is in an election year and zero otherwise.  If alpha 2 is significantly different from zero, then E(y|x1) in an election year differs from other years.

Your answer:

True or False

_________________________________________________________________
     3.  
A dummy independent variable shifts the intercept.

Your answer:

True or False

__________________________________________________________________
4. 
Inclusion of dummy variables for winter, autumn, and spring is a 
common approach to controlling for seasonal effects.

Your answer:

True or False

 _________________________________________________________________
yi=ao+α1xi1+α2(Dixi1)+εi
5. D equals 1 for females and D equals zero for males.  The effect of x1 on y

Your answer:

a. differs for males and females if alpha 2 is significantly different from zero.

b. is alpha 1 for males and alpha 1 + alpha 2 for females if alpha 2 is significantly different from zero.

c. unaffected by the dummy variable which only shifts the intercept

d. Both A and B are correct
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6. If alpha 2 and alpha 3 are significantly different from zero
Your answer:

a. both the slope and intercept differ for observations whose D equals 1 from those observations whose D equals zero.

b. for observations whose D equals 1, the intercept is alpha 0+ alpha 3.

c. one could say that the sample should be split between D equal to 1 and D equal to 0 observations.

d. All of the above.

_______________________________________________________________
7. 
D=1 if a person is male and D=0 if female.  The mean of D in the sample

Your answer:


a.
equals the number of men in the sample.


b.
equals the proportion of men in the sample.


c.
equals the proportion of women in the sample.

d. 
equals the number of women in the sample.

__________________________________________________________________
8. To conduct an f-test,

yi=αo+α1xi1+εi




(model 1)
yi=α0+α1xi1+α2(xi1Di)+α3Di+εi

(model 2)
F=[(SSRr-SSRu)/q]/[SSRu/(n-k-1)]
Your answer:
a. SSRr comes from model 1, SSRu comes from model 2, and q= 2.
b. SSRr comes from model 2, SSRu comes from model 1, and q=2.

c. SSRr comes from model 1, SSRu comes from model 2, and q = n-2.

d. None of the above.

_______________________________________________________________
9.  Assume that the dummy variables Married=1 if married (0 if not married), Sex=1 if male (0 if female), and that you estimate the equation: 

log(wage) =B0 + B1*Married + B2*Sex + B3*(Married*Sex). 

The estimated log wage for an unmarried woman can be estimated by:
Your answer:

a. B0
b. B0 + B1 + B2
c. B0 + B1 + B2 + B3
d. B0 + B3
__________________________________________________________________

10.  Consider the following model where y= hourly wages, x1=education, D1=1 if a person is African American (and 0 if a non-Hispanic white or Hispanic), while D2=1 if a worker is Hispanic (and 0 if a non-Hispanic white or African American).
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Your answer:

a. α2  is the difference in hourly wages between African Americans and non-Hispanic whites, controlling for education.
b. α3  is the difference in hourly wages between African Americans and non-Hispanic whites, controlling for education.

c. α3  is the difference in hourly wages between African Americans and Hispanics, controlling for education.

d. Both a and b.
e. Both a and c.
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